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IV Semester 3 Year LL.BNVIII Semester 5 Year B.A. LL.B/B.B.A. LLBNVIII
Semester 5 Year B.A. LL.B. (Maj./Min. System) Examination, December 2019
PUBLIC INTERNATIONAL LAW
(Old/New)

Duration : 3 Hours Max. Marks : 100

Instructions : 1. Answer Q. No. 9 and any five of remaining questions.

2. Q. No. 9 carries 20 marks and remaining questions
carry 16 marks each.

3. Answers should be written either in English or Kannada
completely.

. Critically examine the meaning of international-law. Marks :
ew’doaagecdo BINT VFFTS SDOTOFZTN TOLCOAD.

. Explain the theories regarding relationship between
International-law and Municipal-law.
esos*doaaaeo& BRET T Doy 03 BIRNY Towers wif
Qoo kmosmfab DFOXD.

. Discuss about the occasion and legal impact of dejure and
defacto recognition of the state.
R TR T DRIE SOFECL KoY ) IR
ORI, 2FA0.

. Define state succession. Discuss the consequences of state
succession.
TORT STROTOOFIR, 539, 30,I0. T, STRIT VTR
TOFTNIT, W3F 2.

. Explain different modes of acquisition and loss of nationality. Marks :
Tody ¢ 0308 TERBRAT mwmmw FATATa] amﬁn’#&
sbdox.b

. Discuss the rules regarding formation and termination of
treaties.
LT0EE O3S S0 aSRevRbng Towoawed wTdw
aauri.rwe&) 230370,
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Q. No. 7. Discuss the composition and powers of security council. Marks : 16
P soomEvcd T =) emo‘wn 23RO,

Q. No. 8. Write short note on any two of the following : Marks : 2x8=16
a) Consuls.
msﬁz:b FOFLR0.
b) Continental shelf.
e ataficalob
c) Lotus case.
CrReesR® Jso.

. Solve any two of the following problems : Marks : 2x10=20
a) ‘ML’ state enters into alliance agreement with ‘CD' state.
The succession state of ‘ML’ state refuses to follow the terms
of alliance agreement. Decide the liability of successor state.
‘O’ TR BR 2 Uaa:{s.uaobﬁ LEQL 2ol BREEANET.
J03T ‘20 ‘o" @uu :Jadzﬂ:c:ad aaaﬁ'@ z..::fom‘d Ncmm*zi:
TRORLD aoaﬁ’bmd TOOROTT TR d m;ﬁé SeINFIND,
State ‘NA’ provides asylum to ‘X’ who is imputed under political
natured charges in its diplomatic office situated in ‘MX’ state.
‘MX' demands surrender of ‘X' for the trial of charges. Decide the
liability of ‘NA’ state.
a‘&‘ ' oa%@ Dodeodd mm»sm YUY LR SROSHT
DT, TS ‘W08 WFTY, g3 33 03T sele Ct) efgos.,
aecbzcﬁ aoaﬁf' oa:'i@ aa" a’ab TR Ro20G m:i T
SeMd 'R Q' caaicf mqﬁéc&eb éeamraw
Z’, son of diplomat causes death of ‘H' in an accident. He pleads
immunity to defend himself against the liability. Decide.
TPE”" Qo TIET0HTS BN SRS, ‘e I DI
SUOBIRERT. ST z:az;fécmod aieds dma:fdo 3t emw1C
betalehblolat) *am;i éedmrmo
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Q. No. 7. Explain the composition and powers of International Court of
Justice. Marks : 16
203002 e01 T,0INVODT TS Iy LHTORIRY, HTORO. '

. Write short note on any two of the following : Marks : 2x8=16
NS cln)HToR ada’% PO BNVEY WHOWO :
(a) Custom
ROTTOD
(b) Dualism theory
8, 33, im%o@}
(c) Pacts sunt servanda.
AT SOLBTONOT BRRT wWROT.

Q. No. 9. Solve any two of the following problems : Marks : 10x2=20
NS oo TdR ITED :}dsza;rf#sﬁi VRO :
(a) State ‘MR’ confers ‘defacto’ recognition upon State ‘AB'.
Subsequently State ‘MR’ revokes the ‘defacto’ recognition

on the ground that State ‘AB’ is engaged in the violation of
International-law. Is the act of ‘MR’ State Justifiable ?

‘D00 IFF) ‘W ToRE DA BRFIoDIY, VeBTT.

lanoclolnls I c:daé 2030028 4,000 FD"iQmO SUROTE
BRATRTEN ‘oec" UB% ) :,-e&d TRT: IRTIOD™)
SRRRYROZE. ‘wosT”! m%d g2 T, 000R=Ese ?

The factory run by private individual in ‘HR’ State causes
loss to ‘BC' State's in habitants. State ‘BC’' sues State
‘HR’ for compensation. Decide the liability of ‘HR' State.

) d -0 Uza;dg S00RN FBOWOT SERTOMGT. Db splgroveletm
‘R majgd QEANIT TIROIRTOBT. ‘W UD&;:S) ‘NI LT
caa&;, e :Ddadgp T BRWZTE. ‘NFST Uam;d pleiciereiaby
SR RAD.

«

‘N' takes shelter in the ‘XY’ State after committing offence
in ‘RA’ State. ‘RA’ State demands extradition of ‘N’. Decide
the liability of State "XY".

T ‘Hot caaido ST RN ‘DT e c:id@
3o TBcINH. wo‘.a oaud) ‘'S —’surmhw Qs
RO, ‘5ol TR B mz%rraﬁcdacai o ONO

™M 2
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IV Semester 3 Yr. LL.B./VIIl Semester 5 Yr. B.A.LL.B./B.B.A.LL.B/
Vil Semester 5 Yr. B.A.LL.B. (Maj. — Min.) (Old and New)

Examination, December 2018
PUBLIC INTERNATIONAL LAW

Duration : 3 Hours Max. Marks : 100

Instructions : 1. Answer Q. No. 9 and any five from the remaining
questions.
2. Q. No. 9 carries 20 marks and the rest carry 16 marks
each.
3. Answers should be written either in English or Kannada
completely.

Explain the sources of international law. Marks :

Explain the operation of international law in British Municipal
law sphere.

g P )
Tomftoi

—r '~,—('t»=—; o)
oy WeaUAIU,
o,

What is recognition ? Explain dejure and defacto recognition.

B ¢ oy e ) ey, d — ) T\ d - —
(D0 7 TRORTITT TR WORDT WOV B IR
& o L3

What is continental shelf ? Explain the rights available to coastal
state in continental shelf.
s vt dnd

s n e
ARNRD SYUe

pdm=d W, ot
c{Sthiptblevs

Explain the rights and privilages of diplomatic envoys.

= PO mmdada adadn wdady WD oer e pidadrds  Mdrin &
TooDLRONE BENEh 0B LTTHOTONTD DWOAD.
o = \ «
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Q. No. 6. Explain the modes of acquision and loss of nationality. Marks : 16
Tody eoRFRTY,  TECIOE T BYRIERVS DFENTR

£

DRO2O.

Explain the composition and jurisdiction of International Court
of Justice. Marks : 16

TINH mémzmdwsi

Write short notes on any two of the following : Marks : 8x2=16
a) Theories relating to recognition

b) Asylum

¢) International labour Organisation.

CIRR)TE TS BOB

a) :ua;s’o’r\ ROWODRT EJcsgaoér{s‘c

b) wZob (Iomwod)

C) ©0300&, 00 TADFE ROF.
=4

Solve any two of the following : Marks : 10x2=20
TINSIHNTY_ odnFTie SO REAT F3) Ak
a) Fishermen of State ‘X' were fishing in the Exclusive

Economic zone of neighbouring State Y. State Y prevented

them from fishing. State X contends that its fishermen can

fish beyond the territorial sea of State Y. Is the contention

of State X valid ? Decide.
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b) A factory situated in and owned by State X' releases
poisonous gas which is carried away by wind to the
territory of State Y’ and causes heavy loss to State Y.
State Y seeks remedy. Advice.

P . — . : -
X' oo BB B © TORT WHESTY A0V T

O ot O o\ — 2o
WNC\DJE eAVOWD TR0 !

<

Y oo %33 wen
&y o

=,
:d%dabommmad Y oo,
<

= =1

‘B' a member of banned organization in State X kills a
minister of State X and flees to State ‘Y'. State X demands
his extradition. B pleads, he is a political offender. Decide.

- -, 2 o o) - g g T e i o } ) P [ =,
X ToRBO. JIRNCQROL, ROFHEIIOW ABAE 'B'odn 8 oen
= ™ wed o
o e | -] /YU SR L Ny | Re— L 2
), 00,0300, FRTRTD Y o®g . X
2 94 2+
T B e N T b 2~ 5 0
33 BITEBMN BB BREBET.
5% 2

- - - — — 8 o
2000 20T WORTD. WHF OAD.
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IV Semester 3 Year LL.B. /VIlIl Semester 5 Year B.A. LL.B./B.B.A. LL.B./
VIl Semester 5 Year B.A. LL.B. (Maj.-Min. System)
Examination, June/July 2018
PUBLIC INTERNATIONAL LAW
(Old and New Batch)

Duration : 3 Hours Max. Marks : 100

Instructions : 1. Answer Q. No. 9 and any five of remaining questions.

2. Q. No. 9 carries 20 marks and remaining questions carry
16 marks each.

3. Answer should be written either in English or Kannada
completely.

Examine the theories relating to nature and basis of International
Law.

©030004 (000 TBRIT THORUIH B IFBOR TOWORAT
ATROITR), TOBEORD.

“Individuals are the only subjects of International law”. Evaluate
the relevancy of the statement.

", ém;b SRTY, 203000 0N PILIT ARTNTT”
& Begsod BBIONRY oTheono.

Explain the different theories relating to relationship between
International law and Municipal law.

203000, £050 TR L) D%, TRVEID mod:g? RoLOPAT
F ch@ﬂe::b D020,

Give the meaning of recognition. Bring out the distinction
between Dejure and Defacto recognition.
TR LPra), S90. BIRE T IV SoFRoD IR

56@573 SPAD.

What is State Succession ? Explain rights and duties arising
out of succession of State.

oo, ORTROFTTERD ? T, TOCRITOFCI0T LVOERTOR
@By =2 ﬁsragmm QTORDO.

Explain the modes of acquisition and loss of state territory.
oo%, gegdm* TERDERNT TR FITBRW® a;ﬁﬁ@ SO0,
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Q. No. 7. Examine the practices of states in relation to formation and
termination of treaty.
WTOCE TS ) ERSRRIRNT FowoRm DTN ezﬁdaﬁr{eﬁa
")086@»:0

Write short note on any two :
CINFTE TWS 0P STV 8308 2ITOWD.
(a) Asylum.
S5 fovel
(b) International Court of Justice.
tsosdowﬁeo:b oReviplolevs)
(c) Custom.
o

WloS,
(=)

Solve any two of the following problems :

NS cvyBe TR :imfgjri@ WBRD :

(a) State ‘H’ claims the island on the ground of continuous
exercise of sovereignty with willful intention. But state ‘N’
claims the island on the basis of treaty with ‘A’ to which
island was the colony. Decide.

3 RD mwm: NTETZODFT 'aaé’oaood NOoSTZN
SRas mdrzﬁm oo S iwnlelnt "6 BITERIT.
$os ‘T R Qﬂem:& TRBB mai:ao@cé '&5'
T TR aTs wg)ocs‘da’gt &S0~ 3a§td§.3gd. SERREF 0.
A, B, C, D four nationals belonging to state ‘Z' causes
grevious hurt to foreign citizen ‘M’. State ‘Z’ claims

exemption on the ground that act has not been caused
by its officials. Decide the liability of state ‘Z'.

‘o€ Ae0T ©, W, B, B 03w 2] %eodod) ‘='odow
DTIed TNOTAT SEFOD LVOLIEREIRT. ‘&' TIBH) TZD
£ SOTONVOT IEOTHRIOY, @rfod eﬁoﬁd sqradd abeb
anaoaaé BRST. SemRFRD.

State ‘A’ enters into neutrality treaty with state ‘H’.
Subsequently state ‘R’ which replaces state ‘A’ as
successor. State ‘R’ refuses to follow the conditions of
treaty. Decide the responsibility of state ‘R'.

' oY W oplAaiollaly 3&3%3 s BnaERER. S8
SHURTT TN wor ‘T’ DR WBOTE sd:&)ﬂ#d)
TPORD 83033’6@3(3 ‘T oo mdé’oﬁsﬁo aea{mrma




